CBSE Class 12 Political Science Compartment Question Paper 2019 (July 2, Set 1- 59/1/1)
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e Please check that this question paper contains 19 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the fitle page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting 1t.

¢ 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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() @Yt ye7 HErRf & 1 3 Iv7-97 § FT 27 Y97 & | ¥IA-97 qid @Sl H
fasrfaa 8 |1

(i) @US I 4 Y37 &I 1-5 dF 9% Y97 Uk 37F H1 & | JdPb J97 BT I
20 vs3l @ 37fere 787 517 T30 |

(iii)) @US F § Y97 G&IT 6 — 10 TF IcdF 97 3T 3HH! &7 & | I dF 97 HT I
40 vec] @ 3718 &7 517 TR0 |

(iv) @UEH T Y97 G&IT 11 - 16 T JdF I IR 37H] &1 & | IIb JI7 HT I

100 ¥rscl @ 37fere 781 &7 T30 |

(v) EUE T H Y97 GEIT 17 - 21 TF I Y97 Qi 3FH] 7 & | Jcdb J97 HI I
150 Yec] G 37 787 8147 T1i50 |

(vi) GUE T H ¥97 F&IT 21 HHET W YIRT F99 &8 | 38 I GH!
FIR-YledesT H 17160 |

(vii) EUE T § I GEIT 22 — 27 Tb b Y97 B bl H1 & | Jcdb J97 HT TN
150 '3/ec] & 378 757 147 =0 |

General Instructions :

(1) All questions arecompulsory. This question paper has 27 questions in all.
There are five sections in this question paper.

(11)  Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

(111) Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

(iv) Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

(V) Section D contains Questions number 17 — 21 of five marks each. The
answers to these questions should not exceed 150 words each.

(vi) In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

(vit) Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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Qus A
SECTION A

1. TArARgd § 9 hI9-91 Y Saiehivl o Tre-yg § Te7d & 2 1
(i) SRt IgITATH 7 |
(ii)  YAThIUT ST THTE TP ATHE B |
(if) 359 el @ e oy 309 &l gl |
(iv)  STENfirehl o ST S9eTehivl G371 & |

Which of the following statements about globalisation 1s incorrect ?

(1) Globalisation 1s multidimensional.
(11)  The impact of globalisation 1s highly uneven.
(111) It does not lead to contlict of values.

(1v) Technology has led to globalisation.

2. ‘o Sieft’ & fohE T U 1 GoArR HIT | .
HAAT
‘AT TTHTT h-fehEt Teh TTH BT HedTeh hilaT | 1
Evaluate any one merit of ‘ASEAN Way'.
OR

Evaluate any one merit of ‘Bandwagon Strategy’.

3. YR o [hdl Wl TSI U YAl T-hIUHT TLhR hH4-Ht TSHIdeh Ul 4 §918 2 1

HUAT

AR 9Rd hl fopeal @ TeiHifaes Tl & =™ fafigu 9 s+ aiwrferee
qrel | g3 7 | 1

Which political party formed the first non-Congress government in any

State of India ?
OR

Name any two political parties in contemporary India which trace their
origins to the Socialist Party.
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4.  GAGTH AT hT AY T HIWT | 1

Explain the meaning of ‘Indigneous people’.

5.  HIfdad 99 o g AdT i Aifadd 99 o fa9ed & fou et aM1 S gehdr 8 2
IS Tsh Ul TAREU | 1

Which leader of Soviet Union can be blamed for the disintegration of
USSR (Soviet Union) ? Write any one reason.

Que
SECTION B
6. Tafafad =1 w&t fiemw Fifdm - éx4=2
LT A’ &Y B’
(a) TS gers (i) S YhT9 A0
(b) ¥ JdH — I ThaH (ii) TH T8 g

(c)  Erqul shif= (i) gf=eu T
(d)  I-HIUEET, (iv) Il STl FITe
Match the following :

Column-A’ Column ‘B’
(a) Garbi Hatao (1) Jai Prakash Narayan
(b) JaiJawan —Jai Kisan (11) Ram Manohar Lohia
(c) Total Revolution (111) Indira Gandhi
(d) Non-Congressism (iv) Lal Bahadur Shastri

7.  HHEdT shl &I hl HIHI3T hl L& ¥ ik Hgwqul A & TRl Teh hRw
1 TIveiyu HIfT | 2

AT

U] YER Gf8 1968 ol 31 a0 G~ THeH o [oh&l Teh HRUT i
forvetyor ShifsT | 2

Analyse any one reason for considering human security more important
than territorial security.

OR

Analyse any one reason for considering NPT of 1968 as an arms control

treaty.
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8. 1960 % ¢ H WRA i fohrgl g1 gfequrdeft Uit TTféa qem gy i TR
ZohTd W& dTeit fohral gl 31 UTiedl eh AT 3SR hitaid | 2

AT

1953 T qRd H ST A3 AN THIth i o Tehral Gl IV ol ISANR hitaT | 2

Highlight any two political parties of 1960s 1n India that were Rightist

and any two other parties as Left leaning parties.

OR

Highlight any two reasons for the appointment of States Reorganisation

Commission 1n 1953 in India.

9. YN H JUH AW A H AR AN d% 8L HAGH b feheai gl HIehl I UM

<hITST | 2
3rerat

fohrgl a1 odl &l (Warst) o 9 fiifge g Tadaaar & &g 9Rd | faad

1 Taiyg a7 | 2

Describe any two methods of voting since the first general election in

India.
OR

Name any four princely states whose merger with India was resisted

after independence.

10. VY Toh-gl g RO ol IATR iU =g TATAOT & el hl d13deh TSI <hl

T &7 e | 2
Highlight any two reasons that made environmental 1ssues the concern of
Global Politics.

591/1. 5 P.T.0.
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SECTION C

11. 3 g & A TERIfhAl g DS <M bl 30 2 H sHT WA & fohdl <
ST shl SATEAT <hiTTT | 2+2=4
AT

WA <ht e-Fuerar <t fifq 6 et & gl < Son i e fifu | 2+2=4

Explain any two reasons for the superpowers to have smaller countries as
their allies during the Cold War.

OR

Explain any two reasons for the criticism of India’s policy of

non-alignment.

12. 9 9" bl fommar i fohmal IR faeiqrtl &1 9uF hifvu | 4

Describe any four features of Bharatiya Jana Sangh’s ideology.

13. 3Md Ig & 18 A AR I o T-4] H 3T FGaATal hl [Gei9T hiT | 4

Analyse the changes in the relationship between India and China since
the end of the Cold War.

14, TI&T dfg @ AU TR el o ot dtfod fohu 0 AMEuel o Hedmehd
<hITolT | 4

YA

SR <hl LT sl WAl o AU Fldl bl JTehal- hiTaiT | 4

Evaluate the proposed criteria for new permanent members of Security

Council.

OR

Assess the new sources of threat to the security of countries.
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15. ‘Gifaad gurelt’ shl Tehral =R fIRIdrsti &1 9u shifvu | 4

Describe any four features of ‘Soviet System’.

16. 3CTEWN <hl FERHAT ¥ AThadd hifoiu foh UMM 3T kIl & 99 &&ad <90

THeT T Sl AT JUT | FTHAT bl T el FAfaal 8 3T off | 4
3Tt

favama SgTet Al UfshaT 1 3TN shl HERIAT H 3Thaid hitWT | fohH THR I3

Yishal 2@ 3R qg & 94 & 19 o €9 H 1 il 8 ? 4

Assess with the help of examples that the security challenges faced by

the newly independent countries of Asia and Africa were different from
the challenges faced in Europe.

OR

Assess the process of confidence building with the help of examples. How
does 1t function as a means of avoiding violence and war ?

Que a
SECTION D

17. = QU U @0 HT LAFYES JERH T R FEAfdAigd IeE o 3w
foTian

HETE o Uad % 91¢ Yd Hifadd ¥ o TSI T FdmEndl,
THTSATG] el ¥ Alhdlieh JSllard] SHaedl deh o UG Gshiul H
gioht oR | &9, HeY TRMAT o TURSY 3R ot JU9 o <1 ° gSiiang ohl
3T ThAYT 1 Teh G HisAd AT T | Toavd o 3T AR gl
Y g1 G 36 #ige i ‘Wish 9T (ITHTd IR IT=R hAT)
gl T | Ydqd GE gHAT s <3 H wieh AT I A IR TR
-3 L&l Aok 39eh! Tum 3R =T ot HiHT deh Teh 519 o |

()  HF-E T TSI TEATSAT 4 Aqd gadt g o En o foTu wiien SR

1 AT TR ?
(i) M7k AT <hl Tepmal @ TaRIvaredi <hl sIT&AT <hifu |
(iii) M7k AT o <hig < YROTH T hifoT | 1+242=5
AT
59/1/1. 7 T
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fre feu T SEEu w1 erHgEs egE ity e fefafga g % I
ot
qEHTY] g shl GId H SFT Y& <l 3AT ThE™ ISHT IS foh 390 ¥
fasiar @ 8 — I8 aF S Wi FEHT B | R B3 U I W
STTSHHUT e IHS TRHTY] BRI S AT L hi IS il & a8 o
O o UTE 3 FEIG Hid AFh BIORER &9 S0 | 38 HuY (Ush AN
HqAH) 1 T hal T | QHT &1 981 % I TH-gHL % gl 3R
U R Yga <hl SaH1 &AAT BIdl & Toh s Al 981 g 1 @aU &
33T =Hladl |

(i) 9] g Hores o= &l g ?
(i) A gg Tohe RO § I HETAITRAT o o= qU1 gg H gHEfad T8l gt ?

(iii) ‘39U kT 7Y T hifau | 1+2+2=5

Read the passage given below carefully and answer the {following

questions :

Thecollapse of communism was followed in most of
these "countries by a painful process of transition from an
authoritarian socialist system to a democratic capitalist system.
This model of transition in Russia, Central Asia and East
Europe came to be known as ‘shock therapy’. It varied in its
intensity and speed amongst the former second world countries,

but i1ts direction and features were quite similar.

(1) Which two international institutions administered shock

therapy in the former second world countries ?
(11) Explain any two features of shock therapy.

(1) Explain any two consequences of shock therapy.
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Read the passage given below carefully and answer the following
questions :
In the event of a nuclear war, both sides will be so
badly harmed that it will be impossible to declare one side or
the other as the winner. Even if one of them tries to attack and
disable the nuclear weapons of it rival, the other would still be
left with enough nuclear weapons to inflict unacceptable
destruction. Both sides have the capacity to retaliate against an

attack and to cause so much destruction that neither can aftord

to initiate a war.
(1) Why 1s a nuclear war indecisive ?

(11) Why did the Cold War not transform into a full scale war
involving the superpowers ?

(111) Explain the logic of ‘deterrence’.

18. = U U AGHU & IHYES JIH hitwg, 3R AAfARGd IeHi o IH
NIECIE

AGE & G99 YRd & 9md fas™ & g disa o
3NATGI-JSlaTE] Aige qUT THISAG! Higd | WA H g Al T
® ®F o GASEG] Hisd ¥ gd GHIAd 9 90 IR & YSrare]
Higd o THUS 5d hA 9 | WA o foeh™ @ 34 q "igal H § Tl
hl Wl &I YA | HRA H I Hiscll o dwdl bl THEAT S UM
T | 39 ShRUT § 3Heh] THINA ATEAT hal T |

(i)  9Rd ¥ TIeh™ ok fohd A hi YA 7T 2

(i) TahrE % 3§ Higd 6l A=Al & fheal gl Torgati 1 foaeetyo

hiTTg |
(iii) &< IUTYGAT ¢RI TEdTdd SiF" TAT bl 9Nl hiTaU | 1+2+2=5
AT
59/1/1 9 P.T.0.
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e fCu TTU I H1 SAFYEs AT hifW IR HEIAIRId I9H1 o 3T
NIECIE
1960 = ek T Y I g3 ¢ & TG’ Bl T8 | 1940 3R
1950 S H & QAT o 3cdTed hl Jhg o, THEAT hl Jhg &
H SE-dY 3794 I FU W 15 AT | 1965 H 1967 & i< <3 6 3h
feeat & g v | 3H safy § wrRd 3 S g o wma o o S|
foreell gg1 o Tehe ol 1 AT 98T | 34 IR 91dl oh hRUT WITH hl
YT Ul Bl TS 3R < o 37eh 9NN H 37ehTa widl et 7 4 |
(i) WA < ThH TSI T QR o Hehe h1 Gad A(eeh THTE 5T ?
(ii) 1960 % b H YR § WS Tehe (g HHI) o Tohral QI HRUN
ol Tagetyur ST |
(iii) 1960 % Tk H IUd §U WrETH Hehe o feheal @l TROMHI <l
IEFmLII W\sﬂl | 1+2+2=5

Read the passage given below carefully and answer the following

questions :

On the eve of Independence, India had before it, two
models of development : the liberal-capitalist model and the
socialist’ model. There were many 1n India then who were
deeply 1impressed by the Soviet model of development. There
were very few supporters of the American style of capitalist
development. India did not follow any of the two known paths
to development. Elements from both these models were taken
and mixed together in India. That 1s why it was described as
mixed economy.

(1) What model of development was adopted 1n India ?
(11) Analyse any two points of criticism against this model of
development.

(111) Analyse the ‘Bombay Plan’ as proposed by big industrialists.
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Read the passage given below carefully and answer the following
questions :

The agricultural situation went from bad to worse in the
1960s. Already, the rate of growth of food grain production in
the 1940s and 1950s was barely staying above the rate of
population growth. Between 1965 — 1967 severe droughts
occurred In many parts of the country. This was also a period
when the country faced two wars and foreign exchange crisis.
All this resulted in severe food shortage and famine-like

conditions 1n many parts of the country.
(1) Which State of India was worst atfected by the food crisis ?

(11) Analyse any two reasons for the acute shortage of food in

India in 1960s.

(111) ~ Highlight any two consequences of the food crisis in 1960s.

19. = fqu M- 3aaul &1 SIHYEs AL HiNC JAR HEfIRgd I o I
NIECLE

ITATE! o qLd 91¢ FHR <20 ol U, Towmad, ol fomeat
o oo™ IR TSI & GATled S hicd HEW! § SEHT 98T | ¥ 3R
faqe o 3Tk UUAEehl h1 ITHM AT foh WA Tehishd TS o &9 H
s1gl Tl deh e @1 qmwm | A % qid WG SIHHIHIT o6
AT FHA T | I8 9% WA 3T 9Tfehed™ o sitel Ty sl HIHA
TRl U1 | ShIHR | o ST shl TSI ATRIETAT T HaTd Hi 399
ST 83T o1 | 3ieh $H! T8 YAk o HS WA H HRA 61 3T §H
A W HgHid el ot | gferu wid | ol glag IeieH € I8 3
TUEl 5 Ueh THY 3T S hl &Td ISR ot |

P T4
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(1)

(1)

(ii1)

qait YR & W8 Rl @ & % AW fofew & oend % e
HAEETE] JTClT 1 367 §3T |

ST -ShYHI H 37T~ o hIs Gl ShIRUT AT hITIT |

YA H TP Tehdl shl HIe[d i o hig al U AT | 1+2+2=5

Read the passage given below carefully and answer the following

questions :

(1)

(i1)
(ii1)

59/1/1

After Independence our nation had to cope with many
difficult issues like partition, displacement, integration of
Princely States and so on. Many observers both within the
country and from outside had predicted that India as one
unified country cannot last long. Soon after independence, the
issue of Jammu and Kashmir came up. It was not only a conflict
between India and Pakistan. It was a question of political
aspirations-of the people of Kashmir valley. In some parts of the
north-east, there was no consensus about being a part of India.
In the south some groups from the Dravid movement toyed with

the 1dea of a separate country.

Identify any two regions of north-east India where the

secessionist movements emerged after Independence.
Find out any two reasons for the unrest in Jammu and Kashmir.
Suggest any two methods to strengthen the national unity in
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20. R QU MU T H AEYES AL HIWC qAqT HHAIRId T b IH
NIECLE

IS FE R e
g UL ohl dATe 9§

..q g < |

(1)
(i)  Tordl fHceliett (T8e=aH) TLhR o fohral gl qINl ol TIE hifuT |
(iii) + B hlgd H A @ Fe¥l hl ISR hifTT | 1+2+2=5
Study the cartoon given below carefully and answer the following
questions.:
THEY SAID

THEY'LL SUPORT

THE GOVERNMENT

FROM OUTSIDE!
(1) Name the Prime Minister shown 1n this cartoon.

(11)  Explain any two demerits of any coalition government.

(mm) Highlight the message conveyed by this cartoon.

59/1/1. 13 P.T.0
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FIZ :  HEIIET 399 Fact GIRETEad GALTdat & 178, Y97 &7 20 & T W E

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1) HRd H YgA! TS ohl TR & T Tt skl 91 [ARgU |
(20.2)  TEEEH AYAT THEATS[CI! TLhR Sl 1Y TISE HITT |

(20.3)  TEEYH ThHR o hig & N IATR shifad | 1+2+2=5

(20.1) Name the Prime Minister of the first coalition government in
India.

(20.2) Explain the meaning of coalition government.

(20.3) Highlight any two demerits of coalition government.

21. U % fqu U usHifde W@iAEtE (98816 W), H Ul ¢Sl
@), ®, ©, D qe (E) g <uiEn T8 | A= & T8 BRI & SATER W3

CSTl h! UgdM <hifse 3 {1 IAL-Yfedehl H Seh &l =M™, TAN i g
SR <hl shH T&AT dAT Tral-ad 18R, A= &I 78 dIfeiehl o ®9 H TIRgU

qﬁﬂﬂﬁnﬁnmfl graf-erd 378 | < T A
ShH FET

(1)

(11)

(111)
(1v)
(v)

(i) 39 &7 o1 Ush <1 Sl UTfeh&dTd hT W T |

(i)  STYT TTIGEAT Sl IR §H ATAT 39 &1 o1 I9H < |

(ili) Ueh < Sl HaHTHeh Tefad o |

(iv) U <3 Torad Sl SAehdii-=ieh 31T 8= 98 @1 2 |

(v) Ueh <X Sl 9Teh 1 He&d 81 3 | 1x5=5

59/1/1 14
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In the given political outline map of Asia (on page 16), five

countries have been marked as (), B), (©), (D) and (E). Identify them on

the basis of the information given below and write their correct names in

your answer-book with the respective serial number of the information

used and the concerned alphabet as per the following format :

Sr. no.

of the

information used

Concerned
Alphabet

Name of the
Country

(1)

(1)

(iii)

(1v)

(v)

(1) A country of the region which was a part of Pakistan.

(11)  The first country in the region to liberalise the economy.

(1m1) A country which had been a constitutional monarchy.

(1v) A country that experienced both civilian and military rule.

(v) A country which 1s not a member of SAARC.
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[Blir
g3 9. 21 % 17T For question no. 21

TIVRT — USHITdSh Asia - Political

Kms. 500 1000 1500 Kms.

—
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Fig:  HERIRGd 9 @acl GIRETST GHATaar & 1c7g, 397 &gl 21 & EH T

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1)  cferor ufden @ fRet weh w1 @1 AW fafgu i@ gFi, Alehdiiie 31
= E @1 3 |

(21.2) U T URETE o 1 AW fafe St erdia # fag o o
(21.3) 39 <3 h1 911 TARGE ST ITferEd™ T 9T AT |

(21.4)  ®Th < fopral TR He&g a9 o 9™ fafgn | 1+1+1+2=5

59/1/1 16
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(21.1) Name any one country of South Asia, that has experienced both
civilian and military rule.

(21.2) Name an Asian country which was a Hindu Kingdom in the
past.

(21.3) Name the country which had been a part of Pakistan.

(21.4) Name any four member countries of SAARC.

Qus g
SECTION E

22. 1969 T HIUF U i u=Tieh [aYSH i 3T & I dret fohegl did T9@ Hel

ol TS hifoT | I%3=6
SOE

1975 H SUTdehicl. <hl =INUM <5 U Iaiert foheal di9 RO <hl Il

hiT9TT | Z2%3=6

Explain any three major issues that led to the formal split of the
Congress Partyin 1969.

OR

Explain any three reasons that led to the declaration of Emergency in
1975.

23. OYHIRT & HRU AT GRI W U TN fhegl o9 dRaadi ol 3SR

11T | 2x3=6
HAAT
YY1 hl YGYUT € S h hig dl dlish AT | 2x3=6
Highlight any three changes experienced by you due to globalisation.
OR

Suggest any three methods to protect the environment from pollution.

5911 17 PT.0
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24, ‘SE%d ¥ U % foheal dIF qliehl s faweiyur SHifeT | 2x3=6
HAAT
1970 % &g <4 gRI YT AYHAEYT sl UNA o ol I3MT T Tohegl i
hGHI T TITeINUT 1T | 2x3=6
Analyse any three methods to overcome ‘hegemony’.
OR

Analyse any three steps taken by China to reform its economy after 1970.

25. S 3TeldHl 9 Alhd= H 3TIIEYT BAE & Sol1F 3k [GEdR | INTeE fean

2 |7 dehl hl HERAT ¥ YA 6l gfee Hifse | 6
3Tora

“amd o Tafy= &1 o AT g ATHET™E Sl T & TRy faf¥raar I Wehdn

T 3CTEWI & | dohl bl TEMAT H U ! Yfed hifT | 6

“The popular movements have contributed to the expansion of democracy
rather than causing disruption.” Support the statement with arguments.

OR

“Regional aspirations expressed by people of different parts of India 1s an
example of Unity in Diversity.” Support the statement with arguments.

26. RA %1 WA A hI ol =R fawwasdt &1 aui Hifw | Iéx4=6
3Tl
1971 H WA 3R UIfhEdH o 1 g Jg o Tohral Gl HRUN I 3 qROMHT 6
U HiIfe | 6

Describe any four features of India’s Nuclear Policy.

OR

Describe any two reasons and two outcomes of war between India and
Pakistan 1n 1971.

59/1/1 18
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O
27. 1975 ¥ HINA ATITAhIA § G U Tehral oM Teehl (U131) ol GUF HiE | 2x3=6
AT
WL H 1971 H gT IATEI o feheai oM THUMHT Rl 9UM IV | 2x3=6

Describe any three lessons learnt from the Emergency declared in 1975.

OR

Describe any three outcomes of the 1971 elections 1n India.
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